




































Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner















































Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



























Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner





































Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner

















Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner













































Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner





15 years  نفترض ان التكمله 
A فراح يكون الجواب

30 years  ونتفترض انها 
B فيكون الجواب









Rad

The unit of radiation absorbed dose is 







D الرسمه  اللي فوقها حرف

























Question 1

Who is given credit for the discovery of X-ray?

A. Henri Becquerel

B. Wilhelm Roentgen 

C. Marie Curie

D. Pierre Curie

Answer: B



Question 2

How does radioactivity cause ions to be made?

A. It adds protons to atoms

B. It adds electrons to atoms

C. It add neutrons to atoms

D. It knocks electrons from atoms

Answer: D



Question 3

Half-life is

A. Half the time for radioactivity to double

B. Twice the time a radioactive particle lives

C. The time taken for half the radioactive nuclei to decay

D. Half the time for radioactivity to finish

Answer: C

✅

جاء نفسه في الاختبار 



Question 5

Which of the following do not deflect when pass through a magnetic 
fields ? 

A. alpha particles
B. beta particles
C. gamma rays
D. Magnetic and electric fields deflect alpha particles, beta 

particles, and gamma rays. 

Answer: C



Question 6

Which of these is the most penetrating in common materials? 
A.alpha particles
B.beta particles
C.gamma rays
D.all are equally penetrating

Answer: C

تخترق 



Question 10

Most of the radiation in Earth’s biosphere

A.is the result of military activities.
B.originates from nuclear power plants.
C.occurs as natural background radiation.
D.is in the form of cosmic rays.

Answer: C



Question 11

Gamma radiation

A. is high-energy charge particle
B. is low-energy charge particle
C. is high-energy photons
D.can be stopped with a sheet of paper

Answer: C



Question 13

In food irradiation
A.the food becomes radioactive
B.the food quality can be improved
C.no change can be observed in food
D.electrons and gamma rays cannot be used

Answer: B



Most of the natural radiation dose we get annually is from:

A Radon-222 

B Potassium-40

C Carbon-14

D Uranium-235

Question 15

Answer: A



X-rays produce an image of the bones inside our body by:

A. scattering from soft tissues and penetrating bones

B. penetrating soft tissues and getting absorbed by bones

C. scattering from soft tissues and getting absorbed by bones

D. penetrating both soft tissues and bones

Question 16

Answer: B



The nucleus of a stable atom:

A. changes frequently

B. decays in a few years

C. does not change

D. emits radiation

Question 17

Answer: C



Radioactive decay results in the following types of radiation:

A. alpha, beta, gamma

B. gamma, beta, x-ray

C. alpha, gamma, x-ray

D. alpha, beta, x-ray

Question 18

Answer: A

✅

جاء في الاختبار 



Radioactivity is a _______ phenomenon :

A. natural

B. new

C. Man-made

D. false

Question 19

Answer: A

✅

جاء في الاختبار 



Of the radioactive radiations, those affected by a magnetic field 
are:

A. alpha and gamma, but not beta

B. alpha and beta, but not gamma

C. beta and gamma, but not alpha

D. alpha, beta and gamma

Question 20

Answer: B



Of the radioactive radiations, those with an electric charge are:
A. alpha and gamma, but not beta

B. beta and gamma, but not alpha

C. alpha and beta, but not gamma

D. alpha, beta and gamma

Question 21

Answer: C



Of the radioactive radiations, those that consist of helium nuclei are:

A. alpha and beta

B. only gamma

C. only beta

D. only alpha

Question 22

Answer: D



Radon arises from deposits of:

A. sodium

B. uranium

C. calcium

D. potassium

Question 23

Answer: B



The unit “rad” stands for:

A. radiation absorbed dose 

B. roentgen equivalent man 

C. radio frequency monitor

D. real atomic mass

Question 24

Answer: A

✅

جاء سؤالين عليها في الاختبار 



The unit “rad” equals:

A. 0.01 J of scattered energy/ 1 kg of tissue

B. 0.01 J of released energy/ 1 g of tissue

C. 0.01 J of absorbed energy/ 1 kg of tissue

D. 0.01 J of absorbed energy/ 1 g of tissue

Question 26

Answer: C



The unit of radiation dosage based on potential damage is:

A. alpha

B. beta or alpha

C. ram or rom

D. rem or Sievert

Question 27

Answer: D



Of the following, the most harmful radiation to people is:

A. 5 rad alpha + 10 rad beta

B. 5 rad alpha + 5 rad beta

C. 5 rad alpha + 20 rad beta

D. 10 rad alpha + 5 rad beta

Question 28

Answer: D

✅

جاء في الاختبار نفس صيغه السؤال بس الارقام مختلفه 



Radiation is harmful to us because:

A. it increases our heart rate

B. it makes us too hot

C. it damages some of our cells

D. it burns our skin

Question 29

Answer: C



This picture is the international symbol of:

Laser A

ChemicalsB

Ionizing RadiationC

None-Ionizing RadiationD

Question 30

Answer: C


